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® AB = 12cm,BC = 12c¢m, CD = 7em, DA = 7em

@ /A =/C,AB//CD

® /A =80°, /B=100°, £C = 100°

@ AB =8cm, CD = 8cm , /DAC = 60° ,s.BCA = 60°

® EgZA ACBD 9 d2 0z 0, AO=CO = 5cm
,BO =DO = 7cm
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@ 25cm? @ 30cm? @ 35cm?
@ 40cm? ® 45cm?
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@ 19cm @ 20cm ® 2lcm

@ 22cm ® 23cm
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6. THe 1% 2L BPAMEY ABCD A DE - BC = 1: 29 1,
AADE + AFEC ©] 2t BaAhH g ABCD ©] Holo] @ Hjel7}?
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AB = 100m<! H¥3PAHHEP ABCD & A P
EAABZIA] vl 5mo £E=2, H Q
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9. AAZY ABCD oA BD &= tZH4o]al /DAF = 22° & off, /x 9]
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O 39° @ 45° @ 52° @ 67° ® 73°



@ AAFD = ACHB

® EG + HF

® BH//FD

@ AAEB = ACGD

@ /HEF = /EFG
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